
1 	 Complete the number lines.

a)

b)

c)

2 	

Show a partner that Ron is correct.

3 	 What numbers are the arrows pointing to?

a)

b)

4 	 Where does each number belong on the 	
number line?

a)	 5                       30                       45                       80

b)	 10                       35                       40                       45

5 	 Estimate the numbers the arrows are pointing to.

a)

Number line to 100
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I think 
this number line 
goes up in 5s.
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b)

6 	 Complete the number lines.

a)

b)

7 	 Estimate where these numbers belong on the 	
number line.

27                       48                       79

How did you do this? Talk about it with a partner.

Number line to 100
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b)

4 	 Where does each number belong on the 	
number line?

a)	 5                       30                       45                       80

b)	 10                       35                       40                       45

5 	 Estimate the numbers the arrows are pointing to.

a)

60 70

0 100

0 100

0 25 50


